





5

MAN

SPRING MOUNTING / MAKAS TAKOZU

Arag / Vehicle

TGA

T48
F 2000

F 2000
F 90

TGA
TGX
TGM
TGS

TGA
TGX
TGM
TGS

Ref. NR

81962105025

81962105021
81962105022
81962105023

81962100547
81962100554

81962100548
81962100555

Aciklama
Description

SAG/RIGHT

SOL/LEFT

Brands and numbers were written for only reference.

AP. 20534

AP. 20535

AP. 20554

AP. 20555

50




MAN ®

SPRING MOUNTING / MAKAS TAKOZU

Deseriotian Ref. NR Arag / Vehicle
1) 81962100554 o
KIT / TAKIM 81962100547 Tea
SAG/RIGHT 2) 06014944933 ToM
3) 06014944935 TGS
AP. 20556
1) 81962100555 oA
KIT | TAKIM 81962100548 Tea
SOL/LEFT 2) 06014944933 TGM
3) 06014944935 TGS
SPRING BOLT
AP. 20557 MAKAS CIVATASI
o M 20X2 h:240 06014944933 TGA
AP. 20563
T———mm M 20X2 h:260 06014944935 TGA
AP. 20564

51

Brands and numbers were written for only reference.




5

MAN

ENGINE MOUNTING / MOTOR TAKOZU

Arag / Vehicle

F 90
19.242
19.372
19.422
24.242
33.372
41.322

BUS
LION SSTAR
LION SCOACM
NG
NL
NU
$2000

Ref. NR

81960200341
81960200373
81960200385

81960200384

Aciklama
Description

D=Q70 H:85
ARKA/REAR

D=Q70 H:85
ARKA/REAR

SPRING EYE BUSHING / MAKAS BURCU

TGA
TGX
TGS

TGA
TGX
TGS

81437220087

81437220091

D: @62
d: 24
h: 95

Brands and numbers were written for only reference.

AP. 20552

AP. 20558

AP. 20584

AP. 20568

AP. 20569

52




MAN

®

53

AP. 20570

AP. 20559

AP. 20585

AP. 20553

SPRING EYE BUSHING / MAKAS BURCU

Aciklama .
Description Ref. NR Arag / Vehicle
D: @ 62
: TGA 410
ﬁ: a gg 81437220070 TGA 460

ENGINE MOUNTING / MOTOR TAKOZU

BUS
UL272-UL292
81962100367 UL242-SU242
SU272-SU292
NEOPLAN N316

BUS
UL272-UL292
81962100366 UL242-SU242
SU272-SU292
NEOPLAN N316

GEAR PART / SANZIMAN AYRICI

Brands and numbers were written for only reference.



5

BALL JOINT (KIT) / BUGI BURCU (TAKIM)

Arag / Vehicle Ref. NR
M2000 81432206197
1o
M 2000 81432206202

81432706089
TGM 81432206315

Aciklama
Description

D: @67
d: @15
AX: 100
H: 24

D: @67
d: J15
AX: 100
H: 24

D: @ 67
d: @ 17
AX: 100
h: 24

D: @67
d: @19
AX: 115
H: 24

D: @67
d: @19
AX: 130
H: 24

Brands and numbers were written for only reference.

AP. 20571

$

f
II

AP. 20572

AP. 20536
AP. 20573

o
-

AP. 20574




MAN

®

BALL JOINT (KIT) / BUGI BURCU (TAKIM)

Aciklama
Description

D: @75
d: @17
. AX: 115
) H: 24

AP. 20537

D: @75
d: @17

I “> | .
AX: 115
H: 24

AP. 20538

D: @75
d: @19

AX: 115
H: 24

AP. 20539

D: @75
d: @19
AX: 115
H: 24

D: @85
d: @19

AX: 130
H: 24

AP. 20576

55

Brands and numbers were written for only reference.

Ref. NR

81432306051
81432306068

81432206244

81432706119

81432706091

81432706127

Arag / Vehicle

18.192, 18.242, 24.192
24.242,25.372, 26.272
33.272, S 2000, F2000

TGA
TGX
TGS

TGM
SERIES

FGO
M90
M2000

E2000
F2000
TGA
SERIES




(@
x o) MAN

BALL JOINT (KIT) / BUGI BURCU (TAKIM)

Arag / Vehicle Ref. NR D’:ggﬂ?,’ﬂgn
M2000 D: @75
TGA -
TGX 81432206002 2')(.61;%
TGM H: 24
TGS '
AP. 20577
D: @ 75

EL 222, NG 262

NG 312, NL 202 81432306061 2:)(?1 ;3
NL 312, NM 152 o oy

AP. 20540

D: @ 75
4 @ 23
M90 81432706100 o 1
H: 24
AP. 20560
D: @ 80
]ﬁgg 81432306043 d: @ 19
1aare MD - TF AX: 130
’ H: 30
AP. 20541
81432206055
06290200206 _
26.280, 26.281 81432206073 3‘ g ?g
26.321. 33.372 81432206107 o 130
S 2000 81953020037 e
81953020059 :
81953100009

AP. 20542

56

Brands and numbers were written for only reference.




MAN ®

BALL JOINT (KIT) / BUGI BURCU (TAKIM)

Aciklama .
Description Ref. NR Arag / Vehicle
D: @ 85
d: @19 TGA
AX: 130 81432206250 41360

H: 30

D: @ 85

d: @ 20
AX: 130 81432706133
H: 30

AP. 20545

D: @ 85
d: g 21
AX: 130
H: 30

81432206203 S 2000

D: @85
d: @21 81953020041 TGA
AX: 130 81953020042 F2000
H: 30

AP. 20578

D: & 85
d @23 TGA

AX: 130 81432706126 ¥g)s(
H: 24

AP. 20561

57

Brands and numbers were written for only reference.




(@
x o) MAN

BALL JOINT (KIT) / BUGI BURCU (TAKIM)

Arag / Vehicle Ref. NR Decerintian

D: @85

F2000 d: @23
F90 81432706057 S AX: 152

H: 30

AP. 20579

D: @ 85

d: @ 25
F 2000 81432706105 AX: 130 ( )

H: 30

AP. 20546

D: @ 85

TGA :
TGX 81432206285 d: @ 25
AX: 130

AP. 20562

AP. 20580

D: @85

d: @25
81432706139 AX: 152

H: 30

D: @85
d: @25
AX: 152
H: 24

81432706134

AP. 20581

58

Brands and numbers were written for only reference.




MAN @W@

BALL JOINT (KIT) / BUGI BURCU (TAKIM)

Aciklama .
Description Ref. NR Arag / Vehicle
D: @ 95
d: g 19
—— AX: 130 81964010152 40.423
‘ ; ’ \ h: 35
= : ) K
AP. 20548
D: @95
d g 21 81432706040
81432706045 SG, SL

S AX: 152
‘ ; ’ \ H: 24
. " d

AP. 20549

D: @95
w—— 2z 81432706079 TGA
- N H: 24
AP. 20550
Do9 81432206204 S 2000

AP. 20551

59 Brands and numbers were written for only reference.




5

MAN

SAFT ASKI TAKIMLARI
SHAFT CENTER SUPPORT BEARING
Arag / Vehicle Ref. NR Dﬁg::kr'i‘l"o’t'i‘gn
@ :40
RULMANSIZ

WITHOUT BEARING

@:40 HC:168,4

19.190
W:27 H:65
d:45 HC:200
81394006089
W:19 H:69
g:45 HC:200
W:27 H:69
J:55
26.330 RULMANSIZ

WITHOUT BEARING

Brands and numbers were written for only reference.

AP. 20533

AB. 20500

AB. 20534

®

AB. 20535

AP. 20531

60



MAN ®

SAFT ASKI TAKIMLARI
SHAFT CENTER SUPPORT BEARING

Aciklama .
Description Ref. NR Arac / Vehicle

@:55 HC:219,5 26.230

W:25 H:885 (BEFORE 90 MODELS)

@:55 HC:200
81394106010

W : 36 H:73,5
@

AB. 20509

@:60 HC:194
81394106027
W:18 H:74

AB. 20539

@:60 HC:200

W:36 H:82

@:60 HC:219,5

W:36 H:87

AB. 20538

61

Brands and numbers were written for only reference.




®

MAN

SAFT ASKI TAKIMLARI
SHAFT CENTER SUPPORT BEARING
Arag / Vehicle Ref. NR Deserintian
g:65 HC:197
81394106028
W:18 H:74
@ :65
RULMANSIZ
WITHOUT BEARING
DOLU TiP
FILLED TYPE
@:65 HC:220
81394106030
W:18 H:88
TGA @:65 HC:220
12.150 W:22 H:85
F2000 81394106017 @:65 HC:230
L2000 81394106013

W:23 H:85

Brands and numbers were written for only reference.

AB. 20540

AP. 20532

AB. 20536

AB. 20543

AB. 20503

62




MAN

®

AB. 20504

AB. 20506

AB. 20507

AB. 20544

63

SAFT ASKI TAKIMLARI
SHAFT CENTER SUPPORT BEARING

Aciklama

Description Ref. NR Arag / Vehicle
@:65 HC:225
81394106019 '3888
W:23 H:85
TR - 200
4
W:23 H:85 26.270
@:75 HC:230 81394106020 TGA
. 81394106032 18.220
g:75 HC:220 TGA
81394006107 2040 - 2045
W:20 H:85 SERIES
@: 75 HC:230 1;%’1*0
81394106021 1810

Brands and numbers were written for only reference.




®

MAN

SAFT ASKI TAKIMLARI
SHAFT CENTER SUPPORT BEARING
Arag / Vehicle Ref. NR Dgcs}::krli;rtrilgn
TGA . .
18.310 81394106032 @:75 HC:225
18.410 81394106037 _ _
81394106033 . .
2065 ssioaryt O HEUEE
SERIES 81394006105 W:13 H:85
TGA @:85 HC:220
2055
SERIES W:20 H:85
@:100 HC:1935
81394106018

W:13 H:85

@:85 HC:220

W:25 H:85

AB. 20545

AB. 20508

AB. 20510

AB. 20505

AB. 20542

Brands and numbers were written for only reference.

64



65

®

AB. 20546

SAFT ASKI TAKIMLARI
SHAFT CENTER SUPPORT BEARING

Aciklama

Description Ref. NR Arag / Vehicle
81394106034 18.410
W:26 H: 90 18.510

Brands and numbers were written for only reference.



®

MAN

DIAPHRAGMS / DIYAFRAMLAR
Fig. 1 Fig. 2 Fig. 3 Fig. 4 Fig. 5
D a
0 i
pl:zZUDNulégng/E URUN ismi / PRODUCT NAME :IZKL'J;{E AP /;A:ETER DERINL";/ DEPTH
AA.10611 T.9 DIYAFRAM Fig.1 129 25
AA.10610 T.12 DIYAFRAM Fig.1 140 28
AA.10614 T.14 DIYAFRAM Fig.1 145 30
AA.10608 T.16 DIYAFRAM Fig.1 159 32
AA.10606 T.20 DiYAFRAM Fig.1 168 32
AA.10604 T.24 DiYAFRAM Fig.1 179 32
AA.10613 T.27 DIYAFRAM Fig.1 201 34
AA.10603 T.30 DIYAFRAM Fig.1 201 32
AA.10619 T.30 M DiYAFRAM Fig.1 201 36
AA.10601 T.36 DIYAFRAM Fig.1 224 42
AA.10617 T.9 LS DERIN DiYAFRAM Fig.2 129 32
AA.10616 T.12 LS DERIN DIYAFRAM Fig.2 140 34
AA.10612 T.14 LS DERIN DiYAFRAM Fig.2 145 36
AA.10609 T.16 LS DERIN DIYAFRAM Fig.2 159 44
AA.10607 T.20 LS DERIN DIYAFRAM Fig.2 168 44
AA.10605 T.24 LS DERIN DIYAFRAM Fig.2 179 44
AA.10615 T.27 LS DERIN DiYAFRAM Fig.2 201 44
AA.10602 T.30 LS DERIN DiYAFRAM Fig.2 201 44
AA.10620 T.36 LS DERIN DIYAFRAM Fig.2 224 44
AA.10623 T.24 MEMELI DIYAFRAM Fig.3 179 32
AA.10622 T.30 MEMELI DiYAFRAM Fig.3 201 32
AA.10621 T.30 LS DERIN MEMELI DiIYAFRAM Fig.3 201 47
AA.10624 T.12/16 DIYAFRAM Fig.4 159 33
AA.10625 T.14/16 DIYAFRAM Fig.4 159 33
AA.10627 T.16 S TiPi DIYAFRAM Fig.5 159 27
AA.10626 T.20 S TiPi DIYAFRAM Fig.5 170 25
AA.10628 T.24 S TiPi DIYAFRAM Fig.5 179 25

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.




MAN

®

Type Ref. NR

20 423 105 0200

STROKE
57

M16X1.5

Disk Boyu / Disc Lenght
15 mm

BS0020 20007

20 423 505 0000

STROKE
62

M16X1.5
Disk Boyu / Disc Lenght
15 mm

BS0020 20009

20 423 105 7000

STROKE
75

M22X1.5
Disk Boyu / Disc Lenght
20 mm

BS0020 20010

20 423 105 7010

STROKE
75

M22X1.5
Disk Boyu / Disc Lenght
20 mm

BS0020 20011

O.E.M. NR

81511016384

81511019384

N2504016063

81511016378

81511016377

Arac / Vehicle

M 2000 L
12.224 LC

M 2000 L
12.224 LK

NEOPLAN
ERF

NEOPLAN

NEOPLAN

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY
66

Brands and numbers were written for only reference.




®

MAN

Arag / Vehicle O.E.M. NR Ref. NR Type

81511016467
81511016483 24
STROKE
65

M22X1.5
Disk Boyu / Disc Lenght
15 mm

81511016466
81511016484 24
STROKE
65

M22X1.5
Disk Boyu / Disc Lenght
15 mm

MAN TGA 81511016435 423 106 7010 24
26.510-26.460 81511016437

26.413-26.410 81511019435 STROKE
26.310-18.510 81511016499 75
18.460-18.410

M22X1.5
Disk Boyu / Disc Lenght
20 mm

81511016491
81511016425 24
STROKE
75

M22X1.5
Disk Boyu / Disc Lenght
26 mm

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.

BS0024 20030

67



MAN

®

Type Ref. NR O.E.M. NR
81511016424
24 81511016490
STROKE
75
M22X1.5
Disk Boyu / Disc Lenght
26 mm
12 423 103 9000 81511016211
81511016203
81511016216
STI;?KE 81511019203
082200300
M16X1 5 82200300
Mil boyu / Rod Lenght
186 mm
Y 423 114 0110 N1011018628
14 11018628
112231830
STROKE 11018628
75 011018628
M16X1.5
Mil boyu / Rod Lenght
52 mm
BS0014 10007
16 423 104 9000 81511016266 81511016221
81511019249 81511016222
81511016172 81511016223
STROKE 81511016173 81511016225
75 81511016174 81511016249
81511016175 81511016260
M16X1.5 81511016198 07010016
Mil boyu / Rod Lenght
186 mm

BS0016 10013

Arac / Vehicle

NEOPLAN
M90-12.192 F
M90-12.192 FL

NEOPLAN

E2000,F90,M90

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

68

Brands and numbers were written for only reference.




® MAN

Arag / Vehicle O.E.M. NR Ref. NR Type
81511016196 423105 1110
81511019196 20
STROKE
57
M16X1.5
Mil boyu / Rod Lenght
20 mm
NEOPLAN 080219100 423 105 7030 20
11015178
STROKE
57
M16X1.5
Mil boyu / Rod Lenght
20 mm
NEOPLAN 81511016076 423 105 9000 20
81511016077
81511016078
81511016079 STROKE
81511016199 75
81511019076
07010020 M16X1.5
Mil boyu / Rod Lenght
186 mm
NEOPLAN 81511016115 423 106 9000 24
81511019105
81511016080
81511016081 STROKE
81511016082 75
81511016083
81511016105 M16X1.5
315017181133;1 Mil boyu / Rod Lenght
080220100 186 mm
11015181

BS0024 10023

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY
69

Brands and numbers were written for only reference.



MAN

®

Type Ref. NR

27 423 109 1020

STROKE
75

M16X1.5
Mil boyu / Rod Lenght
20 mm

BS0027 10031

&

27 423 109 1200

STROKE
75

M16X1.5
Mil boyu / Rod Lenght
23 mm

30 423 107 9000

STROKE
75

M16X1.5
Mil boyu / Rod Lenght

186 mm

BS0030 10037

9 423 142 0010

STROKE
44,5

M16X1.5

Boru boyu / Tube Length

138 mm

BS0009 30001

O.E.M. NR

81551016455

81511019455

81511016481

07010030

81511019270

Arac / Vehicle

NEOPLAN

NEOPLAN

NEOPLAN

G908.150 F
G909.150 F
G90 9.150 FK

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

70

Brands and numbers were written for only reference.




®

MAN

Arag / Vehicle

81504106583
81504109739
81504106581

8150416583
81504109583
81504106739

MAN TGL
7.150,8.150FC
FRC,7.180,8.180

ZG046340002

ZG046330002

81504106820

O.E.M. NR

Ref. NR Type

925 424 8000

16/16

D/P
STROKE
57/57
M22X1.5

Disk Boyu / Disc Lenght
15 mm

925 486 0110

12/24

D/P
STROKE
57/57
M22X1.5

Disk Boyu / Disc Lenght
15 mm

925 486 0100

12/24

D/P
STROKE
57157
M22X1.5
Disk Boyu / Disc Lenght
15 mm

925 460 1300

20/24

D/P
STROKE
75175
M22X1.5
Disk Boyu / Disc Lenght
20 mm

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.

BP1616 20406

BP1224 20413

BP2024 20434

71



MAN

®

Type Ref. NR

925 461 2100

24/24

D/P
STROKE
75/75
M22X1.5

Disk Boyu / Disc Lenght
26 mm

BP2424 20450

925 461 2110

24/24

D/P
STROKE
75/75
M22X1.5

Disk Boyu / Disc Lenght
26 mm

925 494 1070

16/16

D/P
STROKE
57/57

M16X1.5
Mil boyu / Rod Lenght

205 mm

925 490 7550
925 490 7557

20/24
D/P

STROKE
57/57

M22X1.5
Adaptor
M16X1,5

Mil boyu / Rod Lenght

250 mm

BP2024 10412

O.E.M. NR

81504106660

81504106661

072202000

81504106307
81504106560
81504106310
81504106559
81504106309
81504106073
81504106074
81504106308
81504106312
81504106427
81504106439
81504106453
81504109514
81504106348

11062533

81504106350
81504106351
81504106352
81504106353
81504106354
81504106512
81504106513
81504106561
81504106605
81504106606
81504106607
81504106615
81504106616
81504106617

Arac / Vehicle

NEOPLAN

81504106683
81504106468
81504106467
81504109351
81504106703
81504106704
81504109513
81504109559
81504109560
81504106467
81504106468

NEOPLAN
FO0 24.242
F90 24.272
F90 24.292
F90 24.332
25.272
25.372
26.262
F90 19.242
19.262
F2000
L2000
M2000

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

72

Brands and numbers were written for only reference.




®

MAN

Arag / Vehicle

M2000 L

O.E.M. NR

81504106707

81504106466

NEOPLAN

81504106697

85504106002
81504106697
85504106002

070214800

81504109476
81504106345
81504106346
81504106347
81504106443
81504106455
81504106476
81504106481
81504106519
81504109552
81504106532
81504106533
81504106540
81504106551

NEOPLAN

81504106552
81504109540
81504109551
81504106608
81504106609
81504106610
81504106618
81504106619
81504106620
81504106684
81504109519

N2504019109

Ref. NR Type

925 490 9250
925 490 9257

20/24

D/P

STROKE

57157
M22X1.5
Adaptor
M16X1,5

Mil boyu / Rod Lenght

250 mm

925 491 1410
925 491 1417

24/24
D/P

STROKE
57/57

M22X1.5
Adaptor
M16X1,5

Mil boyu / Rod Lenght

250 mm

925 491 7550

24/24
D/P

STROKE
57/57

M22X1.5
Adaptor
M16X1,5

Mil boyu / Rod Lenght

250 mm

925 499 0000
925 499 0007

27124
D/P

STROKE
65/65

M16X1.5
Mil boyu / Rod Lenght

250 mm

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.

BP2724 10428

73



®

BP2730 10443

74

Type Ref. NR

925 492 1000
925 492 1007

30/24
D/P

STROKE
65/65

M16X1.5
Mil boyu / Rod Lenght

250 mm

925490 1010
925 490 1017

20/30
D/P

STROKE
65/65

M16X1.5

Mil boyu / Rod Lenght

245 mm

925 491 1430
925 491 1437

24/30
D/P

STROKE
65/65

M22X1.5
Adaptor
M16X1,5

Mil boyu / Rod Lenght

250 mm

925 499 0010
925 499 0017

27/30
D/P

STROKE
65/65

M22X1.5
Adaptor
M16X1,5

Mil boyu / Rod Lenght

250 mm

O.E.M. NR

81504106449
81504106441
81504106464
81504106448
81504106440
81504106465
81504106522
81504106521

81504106635
81504106636
81504106637
81504106567
81504106652
81504106653

81504106628
81504106629
81504106631
81504106632
81504106633
81504106634
070217100
70217100
070217000
70217000

Z2G046390002
070215200
11013219
81504106280
81504106281
81504106313
81504106412
81504106420
81504106497
81504106498

Arag / Vehicle

F2000
L2000
M2000
NEOPLAN

NEOPLAN

NEOPLAN
F2000
L2000
M2000
CITY BUS

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.



®

MAN

Arac / Vehicle O.E.M. NR

NEOPLAN 81504106432
81504106146
81504106489
81504109676
81504106464
81504106414
81504106146
81504106679
81504109675
81504106441

81504106146
81504106675
81504106676
81504106680
81504106449
81504106521
11013226
11013227
070216300
11013226

NEOPLAN 81504106678
N2504019102
81504106679
81504106687
81504106674
81504106677

NEOPLAN 070211600
7021510099
07021510099

NEOPLAN N1011013215
70215000

11013215

07021500099

Ref. NR Type

05 492 1027 38// 59

STROKE
65/65

M22X1.5
Adaptor
M16X1,5

Mil boyu / Rod Lenght

250 mm

242102 30/30
D/P

STROKE
65/65

M22X1.5
Adaptor
M16X1,5

Mil boyu / Rod Lenght

250 mm

925 322 2510 30/30 -j

925 322 2517
D/P

STROKE
65/65

M22X1.5
Adaptor
M16X1,5

Mil boyu / Rod Lenght
77 mm

BP3030 10449

w0 30/30
D/P

STROKE
65/65

M16X1.5
Mil boyu / Rod Lenght
77 mm

BP3030 10450

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY

Brands and numbers were written for only reference.

75



o
MAN 0,

Type Ref. NR O.E.M.NR  Arag/ Vehicle

425 354 0500 81504106377 L2000,LLS,
12/ 6200 81504106382 LLRS
D/P

STROKE
53/53

M16X1.5

Boru Boyu / Tube Lenght

180 mm

BP1262 30410

FOR OTHER TYPES OF BRAKE CHAMBER PLEASE CONTACT OUR COMPANY
76

Brands and numbers were written for only reference.




